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Mr, Mohit Pathak

Invertis University, Bareilly
CO Attainment
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Even Semester Examination 2022-23

S
|NVERT| [ 7 Sem Semester
UNIVERSITY BAREILLY @ Course/Code: Operations Research /BOE072 i
Maximum Marks :70; Duration: 3 Hours
1 Q.No _- Marks BL
i Questions: (70) €0
I l] ) " |
§? - (i) Waiting time ol col |12 f
{ 111 " 3
é . T (i) Scrvice time ol coz | Ll
4 11V (iii) Economic order quantity or_| co2 L2 :
: ' (iv) Queue length ol co3 | L3 i
¥ v v) Degeneracy o1 | coz [LI i
4 g {
& Vi (i) Contraints ot | cor |LI f
e i (vii) Decision variables ot | cor [Li
21 (i) Objective function o1 | cor [L
2-11 {i)) Binding constraints 01 col | LI
2-11I (ifi) Lincar programming 01 :col | LI .
2‘.“’ (iv) Simple moving average ol col | L2
2-V (v)  Delphi techniques ol co! | LI
2-Vl {vi) Utilization factor 01 cOo1 | L3
2-VIl (vii) Forccasting ol col |
Consider the following LPP |
Maximize Z = 45x +40y |
Subjected to
3 2x+y<90
x+2y <80 7 Cco2 | L2
x+y<50
0. x,y20
Solve it by using Simplex method.
Consider the lincar programme (LP)
Maximize Z = 6x +8y
Subject to
2y <
3 s
2x+3y< 6 7 Cco3 L2
X, y20
= Determine the solution of the above LPP.
' |For the lincar programming problcm |
Maximize Z = 3x1+ 2x2 i
Subject to
22x1 +3x2<9
xI -5x22-20 7 Co3 |Ls ;
x1,x220 ; G
: Outline the above LPP and find the solunon :
Analﬂe the problem and find the ophmum sequence  for followmg set of jobs and estimate mak ~ ;
: ]:an fime & xdle ume for each machine ond also prepare gantt chart for the same. All data js jp ? T
7 | cos4 L3 4
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(2} Woukers come 1
$1 fiime tetwoen 1\\1‘| a:i'"‘f;l'i"“("“":"m to enquire about spocial tools necded a particular project, The avernge 7 cos |u
ool Foom attendant is 30 gec., M-:n;: ;;:‘l ;'l"*:’nls are nssumed 1o Polsson distributed, The average time of]

" DBL-Bloom'sT Level
-R Ao | s Taxonomy Levels ) .
(1 Remembering, 2- Understanding, 3 - Applying, 4 - Analysing, § - Evaluating, 6 - Creating)

Level  |Marks ~ Course Outcomes PO - Program Outcomes; Pl Code = Performance Indieator Code
]

! Levell {9 . : co ’:;‘"'k A
Buid Level2 |17 : ‘ N - gg; 0 ;
Level3 |9 ] W T i ;

Leveld |7 . : - i ; — - H B e i

Levels |7 - i \ : = L . I {

Level§ 0 ° = "

T 19 ‘ Total |49
e . Bloom'slevel wise Marks Distribution Course Outcome wise : '

B Marks Distribution
DT JIPUNIORRIUIPRRPMIPUS | PPN e g 14
Elevel2 s tevel? sleveld mlevcls m & i 3 SSusl
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First Unit Test 2022-23
7 Sem Semester
Course/Code; Opcerations Research / BOL072

$
INVERTIS

DTSy BAgLY

3 —_— Mnxinung Marks :30; Durntion: 90 Minutes "
g Ql.?;o e i e Questions : N(';;;" co | BL
’ 1-}1 limiiting time 01 col | LI
o S IR Sgrvicc time 01 col Ll
T1 ERTG ‘ _ Economic onder quantity g 0! COZ L2
& KY ‘ Queue lengtly 01 col | 12
& 3 BB Degeneracy 01| col | LI
g o :," ; o Contraints : 01 co2 12
" ';-lll Df‘cision variables 01 CO2 L1
2’ ;-l\' Objective function 0l co2 | L2
S :’-\' Binding constraints 01 C02 L2
3 Lincarprogramming 01 co2 | LI ,
3 Simple moving average 08 co2 L3 j

Consider the follo\\';ng LPP

Maximize Z = 45x +40y : 5

Subjected to ’ ; i
2x+y<90 |

4-A ye

X+2y<80 . o cos s

X+y<50

i X,y20

Solve it by using Simplex method.

Consider the linear programme (LP)
Maximize Z = 6x +8y
Subject to
- Ix+2y26 ’ 06 | cos | 14
’ ' 2x+3y<6
X, y=0
Determine the solution of the above LPP.

Level Marks ' Cco Marks

Levell |5 S col 4

Level2 |5 B CO2 14

Leve3 |8 e CO3 12

Loveld |12 . co4 0

Levels |0 _ _ _ R Co$ 0 3 |

Levels - [0 . ~ _ i Co6 0 . }
Teral |30 ' Total 30 e

“Bloom's Level wise Marks Distribution

S e,

Course Outcome wise .. -4 =~ |

] ]
i : ! !
00 Marks Distribution . i i
T pap— R o
10 .
g .
'y ) f
¢ @ ca3 o4 :
: B Serinst "

- il
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P
S Second Unit Tost 2022-2)
INV ERT\S 7 Sem Semestoy
UNIVERSITY BARKILLY Course/Conle: Operntions Resenreh / BORO72
Maximum Marks 303 Durntion: 90 Minules
2N Mirks pL
i Questlons (20) £9
ll ‘lll : liwiiting time 01 co4 [':
: ‘lll Serviee time 0l C:b4 l[:2
l. - Lconomic onder quaniity 0! cod
s 'l\_ Quene lentls 0l Co4 L1
b L‘\' Depeterney ol co4 | LI
B8 2 Contraints 0l CO4 | L2 /
PR 2-l Deciston variabtes 01 cos | L2 |
5 3, % ' %
¢ 2= Objective function 0l CO5 L2 4
1V Binding constraints 01 €os 12 |
: 2V Linear programming 0l COs L2 |
P ]
L f
! 3 Simple maving avernge 08 cos | L3
Consider the Tollowing LI
a-A Mu)fimizc Z =45x +40y 06 Co6 4
Subjected to :
£ 2% + v <9 L
8 Consider the Timear progrimime (LP) )
4B Mux.mnzc Z=06x+8y 06 CO6 Ls
Subject o
Ax+ v =
BL - Bloom’s Tuxonomy Levels
(1- Remembering, 2- Understanding, 3 — Applying, 4 — Analysing, § - Evalualing, 6 - Creating)
CO - Course Quicomes PO — Program Qutcomes; PI Code - Performance Indicator Code
Levell 4 ' Col 0
Level2 6 COZ_ 0
} Leveld 8 — co3 0
i Leveld 6 - €04 6
e Levels 0 COs 12
g Lavels o Co6 12
& Total 30 Total 30
. Course Outcome wise
: Marks Distribution
<4 10 .
o ) 6
i 5 o & -
H 4 e 0 %g 4
: €Ol cO2  co3  ¢pg .
: n Scrlosi:
i
{
!
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.NVERTTSS FIrst Clane Tewt 2022-23
UNNERSETY ¢ BAEraly 7Sem Semestor
. Conurse/Cones Operations Research / DOE072
Maximum Marks :10; Duration: 30 Minutes 1
N Marks nL ’
e Questlong (10) co :
- W 05 cod | L2 !
1 YFor the linenr roRmming problen '
£ Maximize Z = 374 22 |
Subject 10 |
2 =2x1 +3x2<9 05 | CO5 Ll ‘
S X1 - 5x23.20
bR ) XL,x22>0 ;
Outline the above Lpp and find the solutjon. !

BL - Bloom’s Taxonomy Levels
(1- Remembering, 2- Understanding, 3 — Applying, 4 - Analysing, 5 - Evaluating, 6 - Creating)
CO - Course Qutcomes PO — Program Outcomes; Pl Code — Performance Indicator Code

i
Level Marks CO Marks et |
Level] 5 Ccol 0
Level2 5 CcOo2 0
Level3 0o co3 0
Leveld - 0 _ Co4 S
: Levels B 0 B COs S
- Level ) 0 i CO6 0
3 - —
Total 10 Taotal 10
Bloom's Level wise Marks Distribution Course Outcome wise
3 % 0.0 00 Marks Distribution
1
3 ; 3
i 2 |
i 0 B 0 |
§ cos €02 [¥e}) cos ' coé
‘ { Bl Blevety sir.ed Sl Eteveld 2 lewl6 B Sediesy

4y l‘acullynflmgnwcrin;:V whnotacy '
g W Invers Unn'crsil)"f 3
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§ Seccond Class Test 2022-23
lNVE o 7 Sem Semester

Course/Code; Operatlons Research / BOE072
Mnxhﬂ’mm ¢10; Duration: 30 Minutes

Marks '
Q.No Questiong (10) = ot

UNVERSITY BARGLLY

i
=
o

) Consider the lincar programme (LP)
Maximize Z = 6x +8y
Subjeet to
1 Ix+2y<s 05 coé LI
2 +3y<4q
X, y20
Determine the solution of the above Lrp

ORI

#

PSR e e S o
o ¢ K

) For the lincar programming problem
Maximize Z = 3x1+ 2x2
Subject to
2 <2x1+3x2<7 05 COos L2
X1-5x2>-22
x1,x2>0
Outline the above LPP and ﬁndlhcﬁsolution.

£

BL ~ Bloom’s Tn;(onomy Levels
(1- Remembering, 2- Understanding, 3 — Applying, 4 - Analysing, 5 - Evaluating, 6 - Creating)
CO - Course Outcomes PO - Program Outcomes; PI Code — Performance Indicator Code

Level [Marks CO Marks

: Levell 5 CO1l 0

L Level2 s o2 0

& Level3 0 CO3 0

- |Leveld 0 < CO4 5

S Levels 0o Cos 5

E 0 cos 0
Level6 -

: Total 10 Total 10

Course Outcome wise
Marks Distribution
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